V4

D view

W79 =HIT—4 / Technical Datall
#H{TRILY / Recommended torque

A TUTAILIM3x10 / Hexagonal M3-10 : 0.2N+m

& T [H1EF~M2.5x7 / Captive pan head M2.5-7
FDOhE X / Other screws : 0.3N*m ~ 0.6N*m

B view
e
o
E view
N

C view

F view

: 0.15N*m ~ 0.2N-m

B (BZFEREDOD) / Color Type(End of product number101)

AN ZA / Components

No. £ %5 / Part name & / Pes #E / Material - REWIE / Color-Finish
) a—r—7Javy . TIVEH A Fv R ADC12 DIV —- B (RERRALIE)
Corner block Diecast aluminium ADC12 Silver+Painted (Unfinished inside)
2 Rtk 9 7 ILS IR A6063S-T5 DIN— B (NENRALIE)
Frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
s TL—L 4 T IV A6063S-T5 DIN— B (NERRALIE)
Panel support frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
4 ISFIL ) 7 LR A1100P DILN— R (REEELE)
Panel Aluminium A1100P Silver+Painted (Conductive inside)
5 HN— | 7 ILEHR A1100P DIVN— B (REHENE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
6 Thi— ; 7 ILEHR A1100P DIN— B (REFELE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
; a—F—H—F 8 TPE (T5R) 7399, JL—, RME— Lk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
e EMCY—ILEH Rk 1 HEMERME (ULIAV-0) ARy TL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 HAFE R (M3 x 8) 1 E ZwbLAvE
Screw (Flat head M3 - 8) Steel Nickel plated
10 BAFTER (RERAFARILEMI x 10) 8 % =i Ul=Pa
Screw (Hexagonal M3-10) Steel Black trivalent chromate
» BRAFTER (RERETMS x 5) . Fi3 ZuiTILAYE
Screw (Original trapezoid hex head M3 - 5) Steel Nickel plated
12 MAER CETFMIEFTAM25x 7) 19 % VT Ay
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

85 / Code | 7 LS4 —X / Aluminium enclosure O—+—H—F / Corner guard
S B < )L73— / Silver J5v% / Black
S G 2 JLs\— / Silver J'L— / Gray
SN < JLiN— / Silver FAE— / Navy
S R < JL1N— / Silver LWk / Red

KRS EUHHT SBAMOEHERLL5HT DRIRAELET. / Oupyright () TAKAGH 00, LTD. AN Rights Reserved.

A /Title
TAKACHI| #X&HanFERTE A —H—FHEMCS— LR —X o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD
KR/ Approved 12X /Checked X /Created FF /Product number RIE/Scale
AUGE88-43-20-[1[1 _
iR X B4t R—/Page

{ERL B /Date 2022/12/28 1717




B-B(1:6)

D view

88+0.3
(or—R45\ % / External)

E view

200+ 0.5 (r— R4} 2 / External)

A view

430+ 0.8 (r—R 4% / External)

438

JC

100
l=— @

F view

R24

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RHFRHEMCY—I)LRF—R
EMC SHIELDED ENCLOSURE with CORNER GUARD

A-A(1:6) C-C(1:6)
© —
© (o]
186 423
C view B view
208
L]
i -
=
|
[Te]
N
R52
o
©n
w4/ Title

o]

#2/Approved

iR

%[/ Checked R/ Created

ES A

FIF /Product number

AUGE88-43-20-00

RE/Scale
1:6

{ERL B /Date 2022/09/20

~R—/Page

2 /17




C fAl#x / C Frame

<
- L) A\
A2 A\
5 2-M3FAHY I} 5
2-M3 Countersunk
150 225 X RxtEHEHR / Same on the other side.
™
e
™
™
~
2 3
25
@
™
\—",_':.-a
™
R / Front side 251 / Back side
D fl#x / D Frame
sy A
R A\
ferae®)
\-"‘]_':F:l
R / Front side 221 / Back side
Mm%/ Title
TAKACHI) HRXLttahFEHTE BIiR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
Fzh/Approved | #&K/Checked | BUN/Created | Z2%/Product number RE/Scale
H88 — D200 12
EP*E X E]”*‘T ~N—T/Page
1ERLH /Date 2022/07/20 3/ 17




16

225

356

e
©
E==§
3-M2.5
380
| <
%) 2 -
12 i

2-M3FHS7%

2-M3 Countersunk

M3

£t47K / Total 4 pieces

[TAKACHI) #t&itshFBHTYE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4/ Title
TL—L

Panel support frame

o]

7R/ Approved

iR

%[/ Checked R/ Created

ES A

FIF /Product number

W430

RE/Scale
1:2

{ERL B /Date 2022/08/08

~R—/Page

4 /1




A /N2RJL / A Panel

379.5 3.5 2

356

™
o
H
«©
<
T [ T o = (]
I ° 0
~ é REE—HMAI o
\‘ J ~ Surface protective film side EH
&2 & £ # i) @ o
1
R
¥tk / Max dim. 372+ 05 T
6-M25FAZILRY—T
6—Metal sleeve for M2.5
R / Front side 251 / Back side
B /N4 JL / B Panel
l—‘ REE—HMAI E“
J Surface protective film side EH
K / Front side 221 / Back side
R4/ Title
TAKACH) #=t&#5hF BHTH R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
SB/Approved | #2E/Checked | #.K/Created | ZU%/Product number RE/Scale
H88 - W430 135
iR T (320 T /Page
{ER B /Date 2022/08/08 57/ 17




4-R147
<
g B

R / Front side

419.4

400

B#F3% / Max dim. 383+ 0.5

6-@4.5

H#hTi% / Max dim. 153+ 0.5

2
I N
RE—MA
Surface protective film side
& &
ZEME / Back side
R4/ Title
TAKACHI] #AEHSNFEMTE Hi— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
W430 - D200 14
EP*E X 5]”*‘1‘ ~N—/Page
{ER B /Date 2022/07/20 6 / 7




4-R147
<
g B

R / Front side

419.4

400

B#F3% / Max dim. 383+ 0.5

6-@4.5

H#hTi% / Max dim. 153+ 0.5

2
I N
RE—MA
Surface protective film side
& &
ZEME / Back side
R4/ Title
TAKACHI] #R&#tshFEMTE Thri— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
W430 - D200 _
EP*E X 5]”*‘1‘ ~N—/Page
{ER B /Date 2022/07/20 77/ 17






